Playing with Numbers
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O ComPaerf_ nurmb e
cm) pP¥ime ] composite
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(Vi) .:..:;Lc'l Numbers.

solution -02:-
(V) False
(ny TIue
() Toure
(W) Towe
(V) Folse
(v False
(vn) Falte

(vi) False
(i) True

(%) False
(V) T

solution ~o03:-
iy Faclors for the n atisel numbey 68 ane
1,2,4,17,34,6%
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(i) factors for the naligal numbers 27 as

\, 2.9 and 27,
oY bhe ndusnal mumbeis 9o ane

cun factors ¥
10, |£1,I5,il,qa,gg,qz,ﬂo,miiio

|;ﬂ.i3r536r1"

colubion —04 .-
st &t rultiples of dhe nalusnal numbe 3 ooy,

ciy ¥
Zré’q-’]z‘jlgﬂ' 2
o) fovek &t mulbiples of the nakoal) mumbe; 5 ange
5, 10, IEJRDJQS,CEG
Cin) {‘rrg‘l: S mu,u"l]ﬂ& of the 'r*.o:bml roabe 3 12 aone

Solukion-05--

cH 15 £ (b) fockoy of 30 (15,30}

an 36 > e mulkiple of 9 (q,18,21,%6€)

an 16 2 Multiple of %. (%,16,24)

(W) 20 €2 D foackor of 1.0 (20,40,60,--:)
Faclov of 50 (25 ,50,%5,100,--+)

(v 26 &> tdd
(v 210- > € MMJDHP\'& of *o. (10, 140,210,2%0....)

5011;.5::71-06'3*
0 fFackosof 20 — 1.2,4,6,10,40
Faclors of 0¢ — 1,2,4, 1,14, 18

CoTrrON -Fa.r_l-ﬂ‘fS —» 1,2, 4,

{jﬂ Faclows of 35 = 1. 5, 7,325
Faclos sof 50 —=> 1,4,5,10,45,50

cammo P —Fac!‘ﬂhﬁ —5 1, 5.



(wy Faclors of 56 — 1,2,4,7,8,19,28. 56,
Faclovrs of 120> 1,2,3.4,6,8,15,20,30, 40, 60,120

common faclors — 1,2, 4, 5.

Solution-o1!-

qy Fackers of & — 1,2,4.
FGCLDTE of &€ — 1,2,4,2¢
Fac‘{'ﬂrﬁ D‘P o — I.,Q} 3; L]’f é; |2

Comnmo N Fac!:arﬁ — 1,2,4.

i) Factor s of lo— 1|,2,5,'0

F{:?\E.‘.'DE-E} D'F ‘39'_"-} tp'grg,lDqulsor.Ejé
FQEPDTE of 4s < 1,3, 5,9, 15, 45 .

C_Dwmoﬁ —FQC‘!:C'T—E — l' 5.

solubion-08.-

Commmon mulkiples of 3 and 4 ]\255-“.,,;“ oo ...7

aulkiples  of 3 = .36,12,9,15,1%,2),24, 27,30, 33
3¢, 39, 42, 45, 4%, 51, 54,57, 60, €3, 6¢, 69, 72,
'15;‘—}%;‘3‘}%‘]';%‘1; qDA‘ qg; ?6‘3 C}Iﬁ'

ltiples of 4 = 4,8,12,16, 20, 21 45

3:‘21 Sé', fa]
qgi 51}5’5"6‘0-‘ GL}-" EE; ‘?QJ‘_] 6,- ED; Eﬁl '{! ’ I;ﬁ(f_f

8g_r ‘%I::'_, qé'j
Common pudtipley of 3 and § ave. |

12,24, 36,48, 60,12, 8Y, a¢



Solubion -09:-
iy The odd numberg belween 36 and 53 ay
e

21,49, 41,43, 45, 97,99, 51

odd mumbens between 232 and 2s| o
e

i The EVEn

3\ ]236‘, 3%.-%2 Fl 2.._- t.!- 2_.{}6 nal?g -
| # - s =50,
solukion -l1o!-

() foun comsecukive odd numbey g
&1,8%,.66,87. Heceeding 19 ade
() bwee consecubive  even mumbas precedi
1%, 120,122, "9 12y axe

golukion -1l
gmmbeﬂ prime mumbe hetween |and 515 13.

o porime mumbers bekween lond 15 a%e 2,3,5,73,0,13)

Solukion =12 -

() factors of 29 = 1. 29.

29 i5 a prime numba .

cackors of 51 — 1,3,19,57-

cu)
e mot @ Prime numbey

51

) .E:o._c'co‘ff: of 43 — L, y3.

La 18 a pPTime numbe

(v Factors of €\ — 1.B,6!.

g\ \s a Pvime Tumbey



Solubion-13 -
iy we shall Find the Common factors o+ i2and 35
The fockors OF 12 ane 1,2,3,Y4%,612.
The foctors of 35 aze 1,5,7,35.
we note thatl is the ondy common factor or
2 and 36

Thenefose, 12 and 35 ane co-P¥ima numbers.

iy we shall £ind the common Facknrs of isand 37,

.{:ac'\'DTE D{: 15 ane ],3!!‘?.']5
ackods of 21 a3¢€ 1.3

ThE
The £

15 and 3.
. Thesnefore, 15 and 271 23€ co-Prxime numbess
N .
() we shall find tha common factors 0f 1532 and
27

“The fockors o+ 27 aje 1,3,9,27
e Lactors of 32 ane 1,2,4,8, 16,52 .

e noke that 4 18 the only common factor of
217 and 32

b Thesefore, 21 and 32 ane cn-Fﬂme numbeys .

civY) e shall find the common fackor of 17 and 35

“The -FDLC\;QTS of [ N T
The fackors of 857 1,17,5, 85 .
we mote that A, 2 ave CDrnr.r.cm foctess 5o

Md &5 ane noel Co-prime numbess



cv) factors ©E 515 — 1, 5,563,515,
\,2,3,4,6,12,24,18,36,48,72,

foclors of 516 7
96, ... ...gl6.

we note that 4 & the only common factortd of

515 and 516

T}-)E%EFQTE', 515 ﬂ"ﬁd 516 (JB-IQ CD’PTIT""F—E.
v foactors of 215 = 1, 85,. ...
fFoctors of 41— 1,5, - .-
LIE ﬁD"rE "‘;1’11'1'2‘ \JSG\:"{E‘ iﬂmm{}ﬂ ‘F&CI.TDT{._. i-r'j. bgtl)

go RI54 415 ane not CO-Pyime humbe g

Solubion-14:-

Nole thal tnhis could bLe povne of e Wags. Tuse com
be othey ways also

(VY)Y 2Y = 5 419

(i) 36 = 1+aqg

D S T

Gy 8= 19499,

Solution- is!-
Note +imak tnis could be one of the woys. Thene cay

be otmer woys alze.
LY &Y =143
(DY 26 417+19

am 84 = Yhiyyz,
(W 120 = 5944



Solukion-16:-
Nobte that this could he one of the Ways . Theye

Con be othes WAYS also.

(Y 21 = 31"‘*}'"'”,

cny 35 = s+ 19

) 49 o= 1t nd iy

) 63 = 1413 +4 3.



Cuevcice- 4.3 .

Splution -olt &

Splukion ~02 -
(S T2
wWe {ind the Prime factovigation of twe given

by division rnethod .

E_J"l Psime £ 15 a foctor of 72

2| 26 again 2 15 afactor of 3¢

e el "

= '-‘Eb-_‘ G..%ﬂ.;ﬁ 2 s ﬂ\'[:a.chfb-f-“ 1

al . Psime 3 is afactorof I8,
9

— SkoP here 2 is a Prime.

90 = &AAIA3 ®3:

Numbera



an Vi
psime 2 1S a factoy of N2

7 =
2| 86 o gain 2 18 & factey of B¢
4% 3 ctop heve A5 43 s Prime

S e I N~ o4 2%XYD

O 4LHs50

214 50

—3 atlop hee 218 o Prime flumbay.

(_{.5':., - 5115‘:‘51313.

(W) 9qeao.

—s stop hene 115 a P¥ime number

. 9o = &rAxsrTAT

@2 = MEN A 34342 L 999



(v 13500

= 125

3l 47

3 9
3

126500 = 2F2¥SASEE %I AL,

Solution -p3 3~
The swallest 3 diait numher loo, The Jgrxeakest 3 -

- dight Numbey 999,
we find the Pryime factorisation of 100 by

division wmetnod

] . .

2 DD_, - PTime 21 A -Eo-.f:l:l:}*r' af oo
2| S0 — " of S0
5| *° P¥ime s 18 a {factor OF 25

] s 5 8lpP hese s IS a PsiMe Nhumbey
Voo = B 8 ALEUS,

we find the prime factorisabion o©Ff 999 by

division me'theci -

Ny 499 — Pxime 3 is a foctor of d03

3| 333 " 2373

T .
— Stop heve W is a PYime

Numbey

LoAaq = B3



gelukion -04 -

The Swallest &5 - Adgit numbe v ie \oo0oo-

we Find the psimeE ractovisation OF 1p000D by division

e whod.

o \oooo

—> ctop heve &5 5 e aeimes

VD ob0 = LD+ A L 9484515 ¥S -

Spolwli\on - o5 -
Swollest rumbe’ havina fouf ditferent pPsime

foctors s ihe Pvoduct of firet fousm pvime
$o numbe 18

- e &x3vs¥] = 6x3g

= 810

" S™alleat T el Y =5l\o.



Edescin€- 4.4

solubion-ol|

(i 28, 36
for Pxime EoctowiSakion of wen nNumbers, e have
o
LS 2|36
N 'y 21 \3
2 9
1. -b—
a

a8 = Q%D
26 = QxGoLAYI
Notice thar & 0€curs as a common Prime fackq,
atleast a times.
HEC.F of 8¢ and 3¢ 'S - D49
= g,

ain fov Priwe factorisation of given numbers; wWe have

2 | 54 eln2 had B
26 545 54 = Q#3423x3

t:1

]M

T2 = 2Dy 94y

3

A0 - 9x343245

e Mmotice that & Gceuvs as ommon Prime facks
,
ak least one time and 2 ag 9 bim |
es
H-CF = 29349
= g .

.8 s H-c.F of 54,712 and g4




(wy Forv prime factosisation of given nNumber, e have

V4o 5'11'15
5 |los 2 \'4 5)
R L——Hgg
2 |2V a |7° El
1 5 |35 \"I-
3

we rotice that s and 1 occurs abtleast pnce as

the
pvime factor 'N all thyee Jiven  numbere
Sow-c-F of 105, 140 and VFS 15 5y T35

)y 19@Y 429 (2 Dwide the Longer rumber by
296 Smmalies numb e,
‘3%3 'l"i%z & pivida bae fivetr divisor by Ternadirday
19

G%Q (Last Aiyvisor)
ljjfﬁ
O,

cor-c F of 198and 429 ;¢ a2
Y Ler ugs £imd that H.e . F of 20,64 .and Oy,
20Y 6y (=
60
Gz2o(s
20

o .
H) loy (6

1Oy
a .

RCF o0f 20,64yand 1oy is 4.



» I,

Giiy Let us find the H-c.F of 120,144 and 04,

1@oy tyy (1
Qo
24y 19cl s
V8o
- '_@_
24 oy | 2
191
12) 24 (2
2y
OF

H.c. F of 120, 14y and 20y

Solukbion-o% -

iy 4
oayoa

w2

Solukiomrmol -
2 — ey

851 is divided by bhe vedured nuwbey, s is

Loken
18 ehact vy

Left a5 Q-;gm.a.j.nclér- 50 261-5 e R

AV T blE BY  bhal numbeN .
Similasly 329-5 = 324, ig etoactly divisibie by
_ thrak TMumi2Y . Theyefore, 259 and 29U ame both

Aivisible by that numbey . Thus e requived rumbes

e we-F of 252 and 32y
252\ 324 (!
92 S
22325203
oR\E )
) 3&']:!17;'@1-

G
Hevice, bve weguwrsed numbey - 36,




Solution -05:-

WOhen e 623 iS divided by a sequyed pumber.
£t o3 1
5 —\5"5‘0\ seamred nuwmbey vemainded . 5o g0 -3 (e

G20 S éd1actly divisible by that nNnumber

Smilanly T729-9 =120 -
841-1 840"

620) " 20(\
620
{ooY620 (6
Leo
a0) 100 [ ¢

joe

(a]

2 0) 84o (Y1

84 0
O

LW .cfof 9iven numbers = Q0.
Solution- o§_.‘—
Rice bag we g WS 6arg and TS5 ES.

divide 9reater number by arnally numbe,

69 16 ()
€%
6) 6500
5_6,
2) 6 L2
B
0.

2k9 of Weishe Can MeE aSwe n ead,

enrack Nuwbe iy -



Solubion -0 -
caPocily of Lonken | T 4o3 Likve.
Capacity of  komea 2 = 43y Likve

capacity of toanke 3= G4es Likre

The veaquived containey thal can be measouw to

diesel of thef conlaine s fiact numberof b i<

w.e.E 0fF Yyo3, 43y and Hés

Zea)gag ()
Lol

217 g0% (13
Yo

O

) 4esl1s
Y¢S
LE}.

21 Lltve Conkodwne Can be '-u.ECJ fp e adtie Cﬁrqu'hx



colukion-0\%-

¢ division mebthod)
¢y 28,92

pvime factosication me hod
&8 =-axayn

U8 = SeB Aw 7y

L.CM=g 142 = 196,

- i A I Ay
Qi

= 19&
?)Equﬂ-' l'.’.lé

% E’;'E-leD‘

o L 3. 10,128
l [_q] g!63

L6

3 (3,5:2"
t, & 1

L. C.™

qiﬁizilisij

54D
Te k-1 - Ve —

fny

g | 10% \BSi162
oﬁ1 sy, 135, %)

L& 5 3

2, S 3
LM T 229 £340 ¥ &FD
= 1620
v By B,

19 6
.:,{&'-:,EL&.HG
.| G, oy

G, 1,

1,

L-c.m 2 Ly It ELn
e LI g.



Solukion -02 &

Y. Lcwm of 430 and €72 .

L.c.™ = a2+ LrdLAA3 s L7

= 33EL£0 .

ay Lem of 6,8 and 45,

E 6,8,49
2,4 45

3
5%".-*"!: 15
.4, &,

s L.CcM oz 9 LILB XY LS

= 3&o0.
(wy =4,4p0,80
9 | 2y, 4o, BY
2| v&, 20, 4
1] & o, =\
— — ———e——
8 z, fte, 7
L5 1

LMz AFARTHAANASED

= 840



G 5| 20,360,637

511::,1%,5:3,'”

—41 5, 9,623,717

q <. 9, 9, h

-

S, b I, 1.

L.C. Mz &xa+1¥q25x L1210

= 1‘3'3»50_

Solution-03% ;-
e

Fivs 't we Rind He least numbker Whiclk

lg €Lace Htl
divigible b4y

15,35 and 49 . For s, we {ijnd
L.c.™M of 16,35and4%.

5"':'5! 35, "'1:3
3\ 3, 1, 48

Fl b, 1, &

. L.c.™ of

15,85 and 4% = B5x347%1g

= &g o .

Thus the numbér 1680 1g the L.cmM WhiChi1g

divigible by 15,25 and 4e (.€ 1680 S the least numbey
Ohich  when divided by the qiven numbers il add
g v €0ch feae Bub e have to a&df‘nf

15 AN the cost:

the numbey

Theve 407€ ~ the vequved number = l680-15

16€5

M



solubion -0q' -
Five t we find the least number Which is erackly
divicible by 6,15 and 13, FOX tis , we find

L.c™m of ¢,15 and 1g

= 90 .

Thus, qo 15 e least numbey okich 15 etackly
divisible by 6,15 and 18 (e ag 15 W€ least number
hith  hen diuld&d Ly the 'ﬁwEh numbers Will 1eave
e vemamnder 5 1N €ach case But we need the least

nurnbey Wi Ch leaves the Yewainder § in each s,
+exe fove, the vequifed numbey - 4045 g5
Splution -05'"
Firat we #ind e least numbey, WhCh 15 etackly
AiviSible by ay,36,45and 54 fov fus, we find.

L.c.m of &4,36,45 and 54,

gy, 36 /45,59

a\ — e
ng_\ﬁ, \&, 45,27
5_ &, 9, -’-15_—,};'1
--?: 1'|l__9) 3, 15,9
3\ 2, 2, 5,3

} 2, v, S 1%

1

LC.M = Qx8+3 134342 S

= \0%o .



Thus, 10 80 15 the least number which (5 edockly
Awisible by 24,36 45and 54 € 1080 i5 the least
number. which When divided by the giyen numbers
Loty leave the yvemaindss 3 in each cage. Rut e
need the fask numbe’  wuich leaves i, vemginaie

13 I\'I"\ EG.CH fﬂS&-
Thevefore, the Tequived number -|ogpq 2

- |oB3R .

Solubion-o0&'
Fivet. we fird the LEM 3,20 and &Yy,

31 6; ﬂcf Eﬁq

L L.c.™m of gwen Aumbers = Yo L AS A3
- (2o

%Teé«%eslr number of 4-digits 13 q99.

e divide 944 by 120 and ¢ind the yemainds
ding to Qiven condiEion, we need o
wkach 15 davisible Ly 124

p.ccov
%feahzsh 3 - :::h‘g'u't nu mber

The ~vegw Yed number = 999 -39

lao) a94 (g

9& o

)



Spoluktion -0 5-

Firet, we find e L™ pf 32,36 and qgg

9122, 36, 48

o |16, 1o, 24
o | B, 9,
2" 4, 9, ¢
° |4, 3,2
B .,ﬂ..?a,'.__h

AALEYE £ 3 o 82947
228 .

11

L.c.m of 22.36 and 4a

]

smallesk Number g5 L-dugits 000.

We divid e tococo by 2828 and find the remad n ooy
Pccovding ko ﬂ]uen condition, we need o

Smallest 4-digit numbex Whch is etactly
AiviSible by 288.

588) lboo (%
B 6y

L1326 .

The vequired number - |ooo- 13¢ =26y
Spallest Pumba = 60 t2ag s

-gg\u'ﬁo nN-0%!-

Fivck .we find the L.c.MmofF 8, 12 and Qo.

g, \®, 20

&, 6,10

r—

2
]

l ﬂfz.r_s.-

20 = &-ﬁ&:ﬁ&iz-ﬂg
= 182o0.

Lc.mof ©,12 and



Sryallest! nuwabber
%TED.‘:ESE number of Y§- d.l-ﬂ.”.'ﬁ ':5 qqqq .

We divide gag9 by 180 and Lind bhe vemajnde

180) 9499 (g3
960

32949
2 E0

3q.
pccovdin®  to qiven condition. Loe need A Yreatesy
wwch 18 dwisible by 9.0 -

4-dipt number
S ame veauived numbey = 4999 . 34
U960 .

i

golubtion- 09:-
Fisot we £nd bhe LcmMOf 22,3¢ and 45,

L.c.Mm of Sl,SEanJ 45 = Z-;jl_q\;,?,;i'_}iﬂ:{'_-?
= J4yyo.

Q'u’ealteglr puvrtoe ofF S- digits = 99999

least Pumber of S-cigits =10000

lyyo) 10 cool 6
& & Lo

- |eooO - 1360 = 2 &4o,

The Tegu red T uw b
L€ oalmaumbs —gbye+l b4 4o - looza,



:-:.chu‘tlﬁﬂ -0 %~

The dictance covened by €ach ol Hhewn 1S ¥ equi red

Lo be the Same as weW as winimum. The ¥equired
. gath

LA diclance should walk would Le Lc-™Mof

tme measwu of the skeps L.e 62¢cm, locm and 1lcn

So we find the LM of 63,710 and 17

-CILQ'E., 1':'1-12

q, 1o,
L.€.M pf 63,70 and 11 = TTHqXI0XY

— 69300,

" The % equived minknam dis bance = €930¢m

. T 688 m3oc
golution-1t- ™

qlT.

Tyoaffic Signald Lakks ar boue di flevent Yoad

chong € after 4@ gs€cond 5,12 Second? and los Seconds
€5 Fch‘u’elﬂ '
L.c. M 0F H& s, 128, 1088

812, Loe

2 |1 60

b E-J?)JG!'
a, 1, 3.

S L.c.mof ya,8,\086 = 123 21_31&15
- yza seconds.

Aviwd® 19 gecond 3 Pask 1AM,



golution-12%-
L.c.v of two nodwe) numbes = thecr produck
thir HO.F

33
- UB32
3
= 33¢.

L.e-™ of two numbels — 336

5,3[‘_._1:13}#‘\43:-
H.c.F = 9
L.c.™m = &30
one of the numbke =45

= 485 111

L.C-m™ % n-c-F
A
o x27o

'UE?_ul‘f& "'H-l"l'ﬂbep' - “5[!?

4 to find the H-CF ot

gglu}.iDﬂ-— LA R
we pLse division mebho

\a 0 and 336 .
130 w360
l2o
1se)\go (Y
l={
2y) ek LE
Iy
| TR=
1'}3&;

a -

LoBecE = (2




L.c MY RC FZ IBO¥33§

13 _
1S6L£3% (¢
\z

L...-M =

s5o4e .

W

Cowkion - L5 -

— N ——

1) 119 (7
| &%

—

< .
on Adwidima LD by 5, WdE get
ek and & as remad holy

-1 as 9ot ,
ak TEma.lthM 4 b, 50 (10 {5 hal

There fove. H1.C.F and LC.-M of tuwo

abtrs  Can NOF be 15 and llo r¥espPectively
nw

[ two numhérs s always etacky
- L.cm O
Rgmﬁbﬂ-
w.c. F-

N Y
d.iU151b1 £ Ly e





